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4 1b More Chain Rule

3. Write the equation of the line tangent to f (r) = +3x* —2 at the point where x =3.

£(3)~ J3r-2 =5 (35)

Q

{-\ ()a W—_ (Zx 23\ /o S\DW,.

Nov 3-2:38 PM



4.1b More Chain Rule - B5.notebook November 09, 2016

The Chain Rule graphically:

Let f and g be the functions defined below

Graph of f(x) Graph of g(x)

15

Let h(x) = f(g(x))

a) Evaluate h(-2), h(1), and h(2) h(2)=H
R F@EE)  h()=E0L) e
- - = -‘:-(O) b\L B
hoY1s hED=f(4) ()
h(—2>: —'2 h(l) - 0
b) Is h(-1) positive, negative, or equal to zero.
- Justifyyourfanswer. h(-1)=f(g(-D)
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c) Estimate the sign of h(-2), h(1), and K(2).
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Practice

Differentiate each function with respect to the given variable.
? ) — (3% _5)°
flw)=(2w* +1) r=(-3x" - 5)

1

) =(5x° = 1)%(2x+5)  Sl)=(5x+3)"
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/)=
y=(x+1)° 1) = V-3x4 - 1
y =sin 2x° y=cos x’
y = csc (sin 2x?) J = tan 5
Yy =CO0S (csc 3x4) y = sec x*
- (—3;22 - 2)3 - (-5x-1)*
4x> + 3 4x° - 5
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Homework

4.1b WKS
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